@:{ 45~300

DOODODPDODDDD

g
3
ol
S
45~300 R 2=2000UT R A=2000LT S A= g
45~300 /
m\“ T =
%% AfEH1=2000 . ALAIE2000 z
i o m m m =]
+U
{0
== i‘i ==
BTE |1 B i )
wl] & oA C0x1]) ’ o oxIn [ e
e (H=600~1200 : 2%) (H=600~1200 : 2) o =
FE (55x17) HE (55%17)
(H=1400 - 1600 : 24) (H=1400 - 1600 : 24)
3dn/stR S LI \ A2n/sE S
& THAY BE#ET OFf : IHE Y F=mLUT A=150
T60 | T80 | TI00 | T120 | T140 | T160 | T60 | T80 | T100 | Ti20 ;Eﬂ : i’gt;ﬁ?mw ﬁgg
YS2HE! O | o] 0 |erx| & | & 0] 0] % | % REL: XEE Y F=IAUT A=
; B b : : : AR XRE Y F=ImUT  A=250
YSIFE 0 0 0 QorX A A 0 ©) X X
= T RATEE I%4% [ B E 3 £
£ ERE . % R lR/ﬁwzm lgm%
Bz EERSAE T T VA LY T AT T YR YSHE - YSOHE ELEE @@
B I—F—#FYR / L ® EI-A1




